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3, Rupa vall:y is located in whicl of HP 7
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(A) HieH (B) Rmemn.. D) wme-

4. Shmdht?r is located inwhich distri v o
ambpa CSumour D
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innaur 3)  Shiml; Lahaul
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H? fﬁr?d%c;uﬂég (B) B gmlsht (C) Gobind Pal (D) Prithvi Singh
¥ gemTs 4
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A) SO ®) 7 (©) Tifezwm (D) T fiw
. The capital of Trigags princely sute of HP was

) N:&ﬂf lﬁﬂ} Sunni (D) Kamru

() Noggtr e e

(A) T @) e (C) wh (D) FE
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10, Lambadug |u-dmr:1c'.:trlu$rujm " L_Unﬁ{mcili“d on which aner gf[i{}? 7
(A) Beas (B) $¢7C) Chenab (D) Sutle
Wﬁﬂﬁﬂﬁmmmﬁﬁmﬁﬂﬁﬁﬂt?

(A) = (B) WS () fm (D) e

1. Hari Rai temple is [l%uated at hich, Jlace inHP?

[ahan . l
%)u-el:\ ;hé'{&maa “%"ﬁﬁﬂ‘wg qftf%?}ﬁ %‘1,?“3" (D) Chamba

(A) T B) ¥vEmp () " (D) =

D Dos attack, which wag in_mu recently, 18 associawq with which field ?

A) Defence
o : (B) Cyber Securi
&.“J Maritime Exercise (D) Psychol

ty
D DoS ma’tmﬁﬁmmmmﬁ%n

13, /”('o:]:icr:n country’s {Brjatim:m .{C) ﬂﬁﬁm (D) HAIf
recently released the ‘N Oceanic and Atmospheric Administration

e
e rance
mﬁm._}.“ﬁ" mﬂ%gﬂmmﬂq_mmr

W LWL B) B () ¥w (D) Wi

14, What was the ;
P i S, o endy nced b e I Arme

A) Operati - :
ﬁci olﬁgﬁﬁg EEA"JEET ofl (D) Oheration s Nirbbas
2-19 HRIHI 1 Je WA
il e forg TS H1 GRS A e e
(A) HTRH YRE (B) AT refas
(C) ¥T™ CO-JEET (D) 3™ CO-WIN
157 {de b?ﬁing::l-‘ishé ;z .
jl n C) Tail D) Scal
q‘l‘*:‘lﬂ::‘lﬂ?ﬂ*? l i iy

A) ®m  B) fE (©) B (D) W

16. < Missing terms in letter series

T e H fqH 9E &
sbcaw.ccasca b care
{A) aaaaa  (B) bbbab (C) aabaa (D) bbabb

120

A is called green, green is called black, black is called white, white 1s
< < L) ﬁd brown, then wh%h of the following is the colour

called red and red is ca

of the ordin st-box ? _
(A) Green e (B) Red (C) White (D) Brown

£ AT 8, BT ) AT FET AT R, FIC B Hhe, HE A 2,
aamgiﬁma ATEA T T HE 1A R, T YR I - & 7

fradasma?
(A) EU (B) & (€) “i?
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20,
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12,
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25.

[ - l
. ynd *+' means ‘- then wha
by

Ll ’ W W0 n‘ » i_W
R ey T 40
{R?ﬁ&“‘h-m;," e B S (D) 190
W i "““T:qumﬁ'"n 3264
rhll:h Vit " 4 d 9 1 )
(A) \’iu‘.v.;?;il“ me;-hliﬂ by _._mngight[g‘,"",f,:::m};;c (D) Vitamin D
mwﬁm Hamin | (a7
farafi v .
Lm RafA  (n) f:‘am“ () frafmc (D) D
Fotein - Calas , 1
(A) Mnluri,malnm ";ﬂ;‘“lﬁg;:';?qusﬂ ©) Typhoid (D) Kwashiorkor
li'immmmt’

A) THRE B Mepm () Z¥EE (D) wEEER

Barometer

Was invented 1y
A) 1. L. Baird Y . Roentgen
EC} Torticel] %B ?hctl:ni arrow
W1 IR P e 7

(A) Juet. q3€  (p, T tue (C) et (D) @iow 3

The chemical name of quick lime is

A) Caleium Chlori Calcium Oxide
(0} Calclum Chieride (D) Chlcium hydvonide
s w1 ety am 2
(A) HfFuan e (B) *fowam sifwaes
(C) Sfewam e (D) *fcwmm mEeamEe
In Rig Vedic society, which of the following was unknown ?
%A; olygamy EB& urdah system

C) Polyandry D) Child marriage
e 7 & 5w e wam i s a0

(A) wgfae  (B) Wiy () wgh-wn () Tt e

The sx;cad of Jainism in Karnataka is attributed 1o
ho

(&) gohoka (B} Shandragupta Ma
C) Kanishka D) Narasimavarma Palfaya
FAeh AU hyEn H A fFaR 7
A) 3 (B) == wird
EC}J HfAes (D) eftrerem| veerm
The Chola empire reached its Zenith unﬂdur B e
(&) Rajendra Chola (D) Rajendra Chola 1
Farereh aTHfi <iTel ETHTSY 79 0 T 7

(A) =] (B) T (C) =Wl (D) T e |1
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2 : ssey 7
P Who succeeded Siraj-ud-Daulah as Nawab of Ben affer the battle of Plassc)

A) Aliward: Khan (B) Mir Jafar
&:} #*ll:;kﬁri‘”" (D) Shuja-ud-Daulah

W%E%mm?‘mm%mﬁm-zq-ammmmm?
2y —~A) sefiwdiaa (B) dhawmw () fwRm (D) gL

Who started the Bhoodan movement 2

a Gand h Narayan
%} ?x:hmﬂﬂ?kcakanhalnda il[y; 51)1{11 m%ashave y
R g fee wmoy R o
(A) wgrem mi (B) AT T
25 —0) Tamh e (D) fariran W
) ¢ Arya Samaj was founded in which year ?
T T 61 A Ry e "

(A) 1875AD  (B) 1882AD  (C) 1893 AD (D) 1897 AD

29.~ The total number of members nominated by the President to the Lok Sabha
and the Rajya Sabha is

Fﬁmm;ﬁrmm#mr@qﬁmﬁﬁamﬁﬁ :

(A) 2 (B) 6 (C) 12 1
30.-"The Indian President is \

%A} Real executive | ' ecut

C) Real Titular executive ese

WY Tl 2

(A) srfas wdafas A ®w) AR e

(C) -~'.'_?.!_|._;"'~ ‘ ) T A FE T
31. <"The 42 Co o Amendment Bill was passed in which year ?

42a1 afaug e fw od 4 aim zan o 2

(A j = (C) 1979 (D) 1980
32 Te fdwicvied to obtain additional revenue is called

(A) Cess™ % (B) Rate (C) Fee (t[)} Surcharge

T 9TH & o foTe smman mn smeemeht & Feemen

(A) I9H (B) I9yes (C) = (D) e

33~ The major purpose of a price index is to measure changes in

{A{ Capacity to produce EB{ Standard of living
C Buying power of money D) Gold content of money
A I F1 T A H TG S AT R |
(A) I ) gyoay (B) Sfa-%w
(C) W% 77 wif (D) 99 & =0 9TH
34" The earth rotates around its axis from
%A; North 19 south %B% East to west
C S{H;Hh to north D) Westto ¢ast
T 3T 34 A} i et 2

(A) T azfgm () @AWW (C) AT (D) ofoam 3
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15, Inthe norther b o
: ( due
EE} E;:ﬂ;lﬁ:lm ?‘?::Eh&m cu are dﬁ“ﬂuﬂ |:ﬂ 1h:ll' ].'i.gh
Nig Elnrma rrents i Curiﬂ‘lﬂ force
I (D) None of these
(A) I o

Sy
(C) AT ey O 373 ] aiv RAf

(B) i 3
36, Whichis nota (D) i A WY AR
fg Eﬂ?“"‘“ Clargg TTENL )

Stream B) Kuroshio current rent
ﬂ-ﬂ?l‘ﬁ‘ﬁum:mt? %D‘ British Columbian cU
Sk

- w gt G

37.  Which stat (D) %W
(@A) Tnmiﬁ?“ Bbundang blaey coi
=g ) Mﬂhlmiﬁl”(f Kanatska (D) Kerala

TRy
A) afierETe
{ }- : (B) vy (C) wlew (D) &

38. ?ihmﬁjts ROt a rabi crop 9
;ﬂ;m:ﬁmﬁqﬂ{ﬂ Wheat (C) Linseed (D) Barley
A B) (C) weh (D) =it
39. Antonym of *Kindle' is
(A) Ignite

(B) Encourage (C) lgnore (D) Extinguish
40. One word substitution for ‘A who is agai i
society especially in ringpgsm is against the standards of ordinary

(A) Joker (B) Hippy (C) Scapegoat (D) Butt
41, We must the tickets for the movie in advance.
(A) draw (B) buy (C) remove (D) take

42, Meaning of the idiom ‘By fair means or foul'is
Aean;ﬁ Out using common sense EB% without difficulty
EC} in any way, honest or dishonest (D) having been instigated

43,  ure-fem & gumE @

(A) T2 (B) yemivE  (C) e (D) wwife
44 ;ﬂﬁmﬂ & ©) D) ¥
45, el o AT &

(A) o (B) aifioft (C) Wil (D) wfeh

46. ﬁﬁwwg“ﬁ;ﬂ@ () smEA (D) Hima g
(A) W= _____4_'_{__}._-—-#-— - Code No. : C-68172021/Series




47.

49,

51‘

The following tuth table represents which Boolean function ?
fan

v RIN Bn et v ) frefrn w4
XY,y
D0l g
0| 9
o]
(A) X
oL x B) X+y

(D) None of these / il & 1§ 78
(1217), is cquivalent 1o

[l!lijﬂmﬂ;mt

(A) (1217, (B) (028p),, (O) (2297),,

In the absolyte addressing mode,

(A) the operand is inside (e instruction,

(B) the Iddl:cts of the operand is inside the instruction.

(C) ﬁ:mmgﬂ:r containing address of the operand js specified inside the

(D) the location of the operand is implicit,
g

(D) (0BI17)4

(C) ﬁmﬁ%nﬁmtﬁma@m%mﬁhﬂmtl
(D) w6t fRafy s w2 |

““MOV" extension refers usual
(A) Image file (B) Audio file

(C) Animation / movie file (D) MS Office document
MOV e wm: fa won f) v & fom w=fifa drm 2 9
(A) ¥ By

ly to what kind of file ?

(B) wifea s
(C) wrftiam/geh oreen (D) W wm 3w g
What is part of a database that holds only one type of information 9
(A) File (B) Record (C) Report

(D) Field
Tere 1 W T R S e v v ) e v d 0
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52.

55!

57.

58.

59.

lhﬂ' rnth
A) K er
EC} Dmm}}%ﬂgﬁ?gu Cﬂmpum ? EB% ﬂ.«_!ugf?hnl;ﬂm
TP W A on
{Whnm Vit “ﬂ"“tﬂ] - watdt (O ﬂiﬂﬂiﬂﬂ
lﬁfrﬁghhflc:;! rE EE amm (€
b p
o) EEERI Eth O e B
D) None ur“., tnr:nn], Repd ﬂlﬂﬂnl n%nr;ry
EEPROM €ad only Me

(A) TR g 112 s
i o 6 S (5] S

& Vacu, “omp tion computers 7
E } Vﬂl:u:l%t-ﬁli-suh nntnlmum mE [irst Esnl.::llllpf.;n
m?ﬁm (SE W LEI chips
Why OMR s gt 1 mmt“:fmﬁgm D) LS foed
Y aguear
€) Scan docun B) Scan images
GMRﬂ:'ﬂ El*ﬁt:}t;'t.} D) Scan answer sheets
(A) ‘%m,
(C) SR (B) P
Jnft}'{:k is = (D) 3= vite ¥4 & fore

2 output dews B) An onli
iﬁlﬁ'ﬂ? nutplll-r device {D% An ?I:Ip'll,ltit;e zame

(A) ﬂﬁﬂ:@z (B) IMET™ (C) wmseqe feawa (D) e feamgw
Which is not a valid ?pc of printer 7

%:]' g?%i-( . Ink;nl (C) Daisy wheel (D) Dot matrix
(A) OCR (B) W © Shefm D) R

One Nibble has ‘ ‘
(A) 2 Bits (B) 4Bits (C) 8Bits (D) 16 Bits

s P a8
(A) 2fe @) 4fe (€) 8fi D) 16fe

What does an Rguﬂaté:& gst:m do? {E} Fﬂeu

an
EC} Mmﬁ%mﬂn Managem ’ET thess. et
& mqs‘tga'rrfaﬁﬂ =
(A) ﬂrhfrﬂaaﬁﬂ (D) “Wmﬁmﬁq

= “_’/r ? Code No. : C-6817203 .



60. What is an Intranet ? %E)) A m:m:lnpulitan area network

A) A local area network D) None of these
%c*] A miﬂ area network
W TR 7
e e ek (B) Wgviferes ufean eadh

(C) a8 i Jea;
61. 1024 Bytes equivalent to

1024 1% w0 ey #

(A) 213 B) 21 (€) 2u (D) 210
62.  Using MS-Word we can simply

(A) Paste picture . E]) T“:e

(C) Format a text All of these

T T 7 3 e v e 0 G

(A) Pemdm (m) o ) sz (D) wah
63. Internal hard disk is

A) Rem B ovab
EC} - g:gglu but not fixed ED% %:?d able
=T e faes 4
(A) =mT=itg wfe frgg T8 (B) i
(C) fram = (D) frm
64, ‘Jihin‘l}has Ilhl:! shortest access times ? B) S
1
giﬁﬁagﬁ: M:‘:nnil:ﬁ;y ED{ Aﬁf%ﬁﬁgy s
A ST wrer 0

(A) st 8t (B)  Fefress Amivfy €) Fnift (D) Twad)

65.  Programs stored in ROM are called as

(A) Fireware (B) Formware (C) Farmware (D) Firmware
ROM # wvaria shm wrem §

(A) $HET  (B) wifdsw (C) wMfaAsr (D) widan

66. Analog computer works on the supply of
A %%ysicn] strength % Natural strength
EC; Magnetic Strength ?[3) Continuous electrical pulses
CATET FHeget el Ayl v s d 2 |
(A) Wifowofs  (B) wrfoes wifis (C) wadm s (D) He fange wie

67. Program execution time would be minimum if the

A ety g B
TR et e g afl s fra _

(A) TEEe! w A (B) = i v &

(C) wufta wlty W i (D) i @ Fd T
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ice that traNSMILS Messages in verpa form is

Jeviee nse unil _
A udi0 ' EE% Tgﬂ}ﬂ#ﬂcﬂmpg
@ ﬁm e (g] fhitfees Ay
e the main folder gy X e
What % vice driver [Hm“ﬁ;;‘mﬂﬂ device called 7
Lo

ﬁawq{w - m‘:lm}'i[;i Interface (D) Platform

(A) LR LR (_B:' SImwd () v (D) @ZHH
A digital COMPULET 18 based on the principal of

M (a) Counting  (B) Multiplication (C) Laogi urement
et T e g i 7 e () Mess

@ ™ B) Tw (C) wifirm (D) WA
1. %E}i ﬁg’:‘?lluwmg Is the characterstics of UNIX ? =
3 Kernel Manages data E‘ Multi tasking %

ﬁﬂm‘ﬂm!ﬁﬁi 2 f All of these
(A) AT (B) wHaEE (o) e w221 (D) 7wt

What is the in the ‘ ?
n e Operating system that does processor management

A) Job sc
H Process Scheduler %% Eﬁﬁfﬂgﬂgnnltﬂ
sften ferem & s sy & < s e w2 2

(A) T TS (B) e e (C) b arqes (D) Srorat

7. Multiprocessing

A) allows the same cnmz:ut:r lo have multiple processors
s completely understood by all major computer vendors

allows multiple processes to run simultaneously
makes the operating system simpler

(A) o TR ) AT TTHE TE 6 St 3 R
(B) WWTWWWWM
(C) 3 werei] w1 W 1Y = i ST T R |
(D) iiatfen fee i &0 R |
", Which Excel feature enables predefined layouts to selected tables in the

worksheet ?

3 e ) g,
igié‘l@ﬂlﬁ:’uﬁﬂd Footer 3 gm mm‘naln ‘ﬁ
T R 2

(A) sms  (B) Fewre  (C) ¥WWEER (D) i we R
--""‘"-——_ 1 —




75.

76.

78.

79.

81.

ing 7

A proxy server js hich of the following

A) To Frm*idr:s'l*lgﬁlll!:m e o8

B) To process clien requests for dntabase acc

C) To Process eljen; requests for web pages <

D To ““"ll.'ll:' Lecunity apninst uﬂﬂl“hnﬂzfd UsCr

qH . ?

(A) TCPAP 9= wed & fom

(B) Tzviw wfivmm ¥ fon wpen Pt ) v ey 3 fer0

(C) % A9 3 o g fyams ) Wte e 3 fovw

(D) 3 vt # fasg quan w2 B0 % foo

Rules for exchangi omputers are called ms
(A) Procedures & () " praciwaen cort Hypertinks Progrd
+ f5 3 ¥ foyu Frm wEem

(A) Wi B) Wowa () Ewwhis (D) SO

Barcodes store information using

E.M Thick and thin lines B) Punched holes
C) Dots ED; All of these
TRHIE THATA TN w0 B i o

(A) 9@ 3 woehi o (B) Tofza foz

(C) =i (D) ==aft

Which is the basic communication language or protocol of the internet ?
(A) TCPIP (B) TCDPAEP (C) TCMP/IKP (D) None of these
WA | 2 i SR S A oS Wt 2 2

(A) TCP/P (B) TCDP/IEP (C) TCMP/IKP (D) =8 358 TE

Documents converted to can be published to the web,
%} l?t?; file i machine language

D) HTML
A aitafis Starpi 39 3 o vt fee s s 8 |
(A) Doc®T§&t  (B) WafAwmr  (C) hup (D) HTML
Which of the following is a search engine ?

(A) Google (B) Archie (C) ARPANET (D) FTP
FEddshmuwmaE e

(A) T (B) ¥ (C) ARPANET (D) Frp
A router

A) screens incoming information.
1s a work virus,
C
D

clears all viruses from a computer system.
distributes information between networks.

T T3

(A) 3T Teh g1 1 hta we k|

(B) s & areE § |

(C) mfﬂmﬂuﬁmﬁmm!t
(D) & e gu mfa s



82. Fhe prog e (ha file fro inal 15
ess of o ating W' m a termina . ftb
s of communicating . (C) Interrogation | None Ol tiese

l'{!‘l] lleurlst. e 11 L'L"
1C racil’t ™ o

‘ g % arY #E L ‘ :
83 r,,l"n_m (B) AT (C) iy (D) Fﬂﬁa‘ﬂiqﬂ
« 7 A digita]

signature is
l;ﬁ ;i = I& . . . y
o Eicai::ﬁn:f- signature %B{ Signature in binary form

itten signature D Encrypting information
L 8
(A) 5 weman (B) wmgat w9 & g
/(C) STeTea Eeana (D) ofrg genem &
84.7 Which is

(A) Toroota class of LAN ?
(&) sokenbus (B) CSMA/CD (C) Broadband (D) Al of these
1 LAN i 7o 71 & 2
85 ilf?l} Wﬁ'ﬁ (B) CSMA/CD (C) #isavs (D) 77 9t
" (A) Tempacmory holds data and program
1 0 o s g maneny (€) Onlyonce (D) None of e
ss./m TIH (B) Wiwnd (C) F@THAN (D) T A B A

The most common in

C ut device is the
(A) Lightpen  (B) Keyboard (C) Monitor (D) Mouse

3T F79e feame } |
(A) =¥ (B) A . (Q) " (D) W&
87, Sxer:.lal effects used to introduce slides in a presentation are called
é ; Animation %% ‘?ransitiﬁn
C) Custom animation Effects
fopet IS g dw w3 ferg e fafine e e @
(A) wHaeH (B) it (C) &R AT (D) THaeH

88.-'/ Compilers and translators are one form of
(A) Harddisk (B) Software (C) RAM (D) ROM

FITEE 3R ZEde fhash TH IR 7
) gdfems  (B) ®wEs  (C) RAM (D) ROM
89.7 Personal computers can be connected tugfther to form a

’ Enterprise B) Network
%} Supeel;%umputer ED Server

wﬁﬁamﬁ%mﬁsﬁwﬂaﬁ@mmmm%?
(A) TTOTES  XB) e (C) GRHFFR (D) TR

9(~ First rcomputer developed in India is
FXS g‘fﬁeVA iﬁg PARAM
fc; ARYABHATT D) BUDDHA
sy o farenfea Y GREHI B
(A) T (B) ™ (C) HEwE o=

R 13 Code No. : C-681/2021/Series-D
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compulers g ‘ .
s e e T
(C) avirus th.:'L INg progragm, (D) @
aoft egedl H B e e e
(A) w aifatfén frem B) %“iﬁ”ﬁ- .-

(C) v araTd Ak sy (D) @&

n%ﬁlaﬂhinc Language

92/ The first computers were 1
]} Spaghetti code

gd U
A) Assembly language Program!™ (B
&:} Snu:{;:ode ['[311: &
1 AT 06 WUH FR Stfifira 0 A e
(A) e wmer (B)  wafi wyyen (€) el P (D)

93, ~ ' i
3. # An error in computer data is called g) CPU

%; Etﬁgag; devices {D% Bug
Fget 321§ Ffe wwed @
A wi feaga (B) CPU () fam (D) &
94.” BASIC is language.
[ating devi B) a procedural
(& oS sented (D) Bhth (A) and (B)
_ wmwi#]

(A) TREHAT-TH (B) whFaTEH®

(C) ey (D) (A) 3 (B) &M _|
95.To restart the computer, which key is used ?

A) Reset B) Backspace + Ctrl

(e D+ ﬁp{ Ctrl + Alt + Del

mﬁmm%mmm(@mmmt?

(A) f&e (B) #%&g + Ctrl

(C) Del + Ctrl (D) Ctrl + Alt + Del

96" Powerful key that lets you exit a program when pushed
(A) Return key (E‘g Escape key (C) Spacebar (D) _Arrow keys
yiferamet it (key) S 39 T ST & ATE £ e R
(A) fA® (B) IR  (C) WHEX (D) 0 ®
91/ Whicf:l ﬁegu type i(s Ba)lsupcalled a drop-down menu ?
ull-down op-u :
%%m s s ﬁ‘L%f p !{E) Cascading (D) Fly-but
(A) @I (B) W () ¥ (D) wmawe

® 4 i debi i
8.7 A small figure which depicts some application o :
’ (A) Ic B) ?\d n the screen is called

o odem = (C) Photo D
e o7 A ﬂgﬁmﬁﬁmmt,%mﬂnu
(A) I (B) 6 © WA (D) #y

Codé No. : C-681/2021/Series-D e ————



100.

101.

102.

103.

104,

105.

106.

107.

TU ﬁllf; BF‘::':&I: your personal files/folders in
{C; My Documents H}; m; Ef—!ﬁg; %ﬁ
¥ 3o Bl wgE e W v e B

(A) TREWRH  (B) Wawwad () Wt D) s S
All the computation are real

(A) Monitor (B) Hanr J}:Eﬂm}cg}h};{,ﬁyhﬁrd (D) CcpPU

oft wfwem Twa: Fenfe 3@ 8

(A) f@ T (B) wéfRmrgm (C) #ezm (D) CPUFT

The information you put into th is cal
(A) Directory - (B) Data e n:um[EuCI;:r lFsil‘i'.ns led (D) Facts
T S A T d v §, Fwer B
(A) TRRA  (B) =W (C) wIE (D) &
The software that is used to create text based document are referred to a8
EA% Presentation B) Word Processors

C) Spreadsheet ED% DBMS

iﬂzmmzﬁfﬁamﬁ%mmaﬁz&mmﬁnzﬁﬂ#
(A) WH=TH (B) aEwmmr  (C) Edfie (D) DBMS

What is used to measure and line up objects in the document ?
A) Ruler Gridlines

{C} Document ma ) ED; Thumbnails
S e o w3 i g O 3 R0 2 T e 2

?
(A) & (B) frEgemew  (C) S (D) @A

What is the default page size for word document ?

(A) Letter ) A4 (C) Legal (D) None of these
2 A 3 ferg fewiee I wmes 1 R 2

(A) B (B) A4 (C) #fma (D) T & g T
A word processor would be used best (o .

{A} aint a picture - %% draw a diagram _

C e a story workout income and expenses
EE %1 3wm wam faas fem gm 7
(A) Fam fafia 01 % foe (B) witw Imifga w5 oy
(C) werf Tge F & (D) 3 3t = whe & fog

The shortcut key to open a new file in MS Word is

CEg: ¥ fere wiéee Foft (key) R
{aﬁ:uu#mjn} AR TRV (D) Cul+X

If vou want to redo an action in a document then press

mmﬁa@zﬁﬁiﬁlﬁﬁmﬂhy:ﬁmmedn)mmﬁ,?hm
(A) Cul+R  (B) Cul+U () Cul+X (D) Cul+Y

15 Code No. : C-681/2021/Series-!



108. A spreadshee

® mﬂ
(A) Cells . mﬁﬁ;m%in ﬁa:“ut ns (D) N
ﬁmw-—w Orksheet  (C) Menus F’*aﬁ
(A) & ®) o () tq &
109, .ﬁddn:s% of ﬁl‘%:n'll in the worksheet is
e - 1A
(B)' A (©) Al ®)
110. ;Igw Mén haracters are there in a cell 7
(A) 255 (B?aztﬁu (C (D) 272
111, Which =

Of the fﬂllnwjn .
£ cannot be changed dsheet ?
8 Wi th of o i While printing (B) " Height of a cell
Frer i aﬁ:‘nf a cel D{ All of these
(A) mmﬂﬂﬁwﬁawﬁmmmt?

%
© Th o TR (B) S

112. Anel ) e
. Clectroni :
(A) R ﬂw;‘ C Spreadsheet consists of

(B) Columns  (C) (el D) All of these
T SR e § i 5 Y 3

(A) dfes (B) wmy (C) (D) TEaft
113. How many rows are there in a worksheet 7

Fhufte § ey o L 3

(A) 8192 (B) 8264 (C) 8416 (D) 8612
114. The active cell in a spreadsheet is identified by

EA} Ke?rbna_rd pointer gg Mouse pointer

C) Cell pointer Insertion pointer

Fﬁnﬁzﬂaﬁw%ﬁaﬁmmt

(A) HT=1E Syt Zm (B) 3% Sig=t g

(C) && gt gm (D) 9 gtz
115. Which are entered macell ?

EA; Data and Formula ?:’l% Function

C) Data D) Formula

T a7 wiie wn ?

(A) =13t Eien(B) wam (C) sm@ (D) wifen
116.  Which appears on the formula bar while editing data in a worksheet 2

A) Horizontal beam EB% Horizontal cursor

EC} Vertical cursor D) Vertical beam

Tt 5 ufefém & 2o widen am w w9 v g 2
(A) dfdin () dfewh () sEiwER (D) Sy i
“ode No. : C-681/2021/Series-D 16 ———




117.

118.

119.

120.

121.

122

The PowerPoing y;

; tvig IS o
A) Outline vigy, ~ that g; ullets) @
EE‘% Slide :-‘.ntlg}w dlsm“fﬂi only text (titlé ﬂ:E,;h\riﬂ“'
VT ¥ 3 g 3 }E{ gﬂ:ﬁ:ﬁs%n“

What is the def; Y3 itk
(A) Blank It Poyp . * L (C) TS

a—— (By .91 g ‘ b json
(A) == (B) TR
TRmE (C) aem viwed (D) F &

Press to g1

Which file form, (C) F7 (D) F8

(A) e B) gy A E R 2 o
Minimum zoom Size (C) .wav (D) &

n MS Pow Point i
™ T T & - erPoint is
(A) 10 ;E"}“'}g“ﬁﬂ%
(€ 30 (D) 50

w L]
In how many views, YOu can create a table in Access ?

ﬁﬁiﬂ(view&)ﬁmmﬁhﬁmmmm%q
(A) 2 (B) 4 (©) 6 ) (D) 8

123, Row in an Access table is also known as

o' ] O o8

(A) aw (B) 3@ (C) f=ig (D) ez
124, In MS Access, “Hyperlink” Data type can store

A) Web Addr B) Email Ad

Eﬂ; Path of a Fﬁ: h)% All of Iﬁﬁ;;es :

W T R § “ERRieis” 31 TRY RR & o5 1

(A) FQE (B) §-¥wgm

(C) & wRel 1™ (D) &l
125. Which is Database Management System Software ?

A) Firefox EB% MS Word

[C; MS PowerPoint ) D) MS Access

2 1 2R F Ry Feda R ? y

(A) FHTERE (B) W

(C) T TH WIE< (D) ™ TH HE
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" cess database object 7 Table
8 e P Mot (O Worksheets ()

T O T R e A 1 2 T 8 7
(A) ) ®) WgE () @k (D) &

127. The Curﬁulnr‘s processor consists of which parts 7

. Drive
A) CPU and N B) Hard Disk and Flo
}C} Mnin?ﬂlmﬁﬁuﬂr‘; ﬂﬂﬂ?ngc f[ﬁ Control Unit and EH’
HEL WA e 97 3 w71 By R 7
(A) CPU st it i (B) wrd fem aih Al 31
(©) Wi afv i (D) w<m qfie 3t ALU
128. Digital Computers use which system to encode data and programmes ?
A? Semi conductor gB Decimal
C) Binary [ﬁ RAM

TRt e wren aie s 2 s e 3 P v orreh o i e 8 2
(A) ®fawsm @) W wwd (D) T (RAM)
129. Tab key is used

C) tomove. cupsor ™" 7" (B) 1o indent  paragraph
ro g3 q;(ﬁk:ﬁ\mm B
(A) HwEsfn  (B) Yo #t w2 w0 S o
(C) FEt =t wem & forn (D) o & %1 d
130. Which is ofien used to select or highlight 7
(A) Icon (B) Keyboard (C) Harddisk (D) Mouse

AT FETEE FA % forw, s Forwn waim 2 2 9
(A) #geA (B) rrd (C) = fa=

(D) wrIg
131. Which type of memory holds only the program and data that the CPU is
resently processing ?

ﬁﬂﬁﬂmmmmmﬁmtﬁﬂ CPU 30 899 Wi
RIEIRY?

(A) CMOS (B) ROM (C) RAM
132. Where is the disc put in a Computer ?
A) Inamodem In the hard drive
}Cg Into the CPU &BD; In the disk drive
Frget | o sl vt st 2 7
(A) Hiew H (B) wdgma®® (C) CPUH (D) o gra i
omputer language developed for programming is
133 T.Eff %ﬁgﬂﬁ B K RTwpe(E:) & (D) Ct+
1 3% fore e wam weeger s
(A) @@ (B) WRgR  (C) C (D) C++

Cade No. : C-681/2021/Series-D 18




]"H. Ta ¢nlculnt:, pert, 568
number system7 “’la“lntiﬁn and store datd computer

A) Dec
gﬁ%ﬁ#}ﬁ‘l""ﬁ% Hexay (D) _Bint g Fe
SOTel 351 1T 35 e gl (C) Ol F

(A) = B W i ey 220 A B O
135. DOS stands for

Eé} Disc of System (©)
evice opera; Fiwd
DOS @1 e # "8 Sysigp, %]I Eﬁc uﬁﬁg 5}"5Iﬂm :
- (B fom siftfen o ﬁ
" ?‘Tw‘:’w “Minglyge, (D) FAAEE
WC Pmiaphﬁqﬁla'ilmﬁadmm B) software
(A) BTEAR \ iD{ All of these
. (B) e
137, Server iS, A compye " SR () e feangs (D) T8 EH
ted ter |
E:%EE::E? EE; et Provides resources lo other compulers
Uters B o
T e (D) Chents

W) () s S g ) e e £

Compulers ¢ (C) gowoger (D) =<
18 A un fgftgi‘““‘“ﬂmmnm
e-mai

A
E ggnnij:fu +
Uy T ——
(A) ol § I R R |
(B) $IE AL |
(C) HAETE & £ |
(D) FET BT ST T I WO A £ |
139. The “home page’ of a website is

Thel
(©) The ‘f“’ﬂ%g“;t (B} The most courtul page
% JaH5E H
(A) Tl 7@ 4 (B) 3w T -
(C) wom i (D) Wit ot
0. Background of screeh B fislow  (©) Deskiop. (D) None of these

pghcatiﬂn
W%ﬁnﬂ mméﬂ-" () SR (D) VHH
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141.

143,

144,

145,

146,

147.

« Pasealine is aly, koo s

NI . . ) m
Which is created by an application ? e progrd

1 yoltwi <lem
AY Executable 1ife () Selw e sys
{l{‘} nl:::l;l'rtl:*:}; e (1 l;.'pjumlll L
FIH UF Wi g fafifn d B R
(A) VIR ige (14 uied ﬁfﬂr‘m ot
(€) s (1)) rfegifen T

. b ! Wi i : y mpchme
@ St ) s
RLELE SR B T R sa—

(A) Tt iy (1) =7 woie

() fﬂ"-‘lﬁ'qtruﬁ:{ () faird) wafta

i & ﬂt‘l
a F ) e . 5 ”'ISILH.d
L omputer ISIICtons written with the use of English word

My machine code is cilled

IT:E,U i."hwmm,]jiﬁ (B) Symbolic code
s Sk o) D) Opeode . |
FE H R T m}l & % A forw A TR

FEeTH # _
(A) Ffssm s () fwitfers w2 (C) §are (D) FTTHE

A ﬁiﬁh speed device used in CPU for lemporary storage during processing 1s
calle

(A)_aregister  (B) abus (C) admabus (D) All of these
wTEfET % Fm T =it % fe CPU s 37 fy fearsa

(A) Tz (B) == (C) TemEm (D) @z =i

A button that makes characters either upper or lower case and numbers to symbols
(A) Monitor ~ (B) Shiftkey  (C) leon (D) Mouse

ﬁmﬁﬁmmaﬁmﬁmmﬁﬁmﬁnaﬂtmﬁﬂmﬂamt
(A) FHI (B) st (C) g (D) =r3H

A storage device used to compensate the difference in flow of data is known as
}A{ main storage tﬂg auxiliary storage
C) buffer . core memory
m%mﬁmﬁMHﬁ%ﬁquﬁWMWmt
(A) =i (B) Taiteril w27t
(C) aw (D) @ A
Bit at position zero is usually referred to as o ,
EA; local bit B% least significant Bit
most significant Bit ED None ol these

mﬁfﬁmﬂz HAWTA: 394 dwfifq 2 o
(A) Wi B) =TdH A1
(C) waifus gyl fae ED} wH A 1



[ 48. Which transforms one int
: (A) EPrﬂsrlm [H‘J: “STm“m another interface 7 (D) Hﬂf‘i""ﬂﬂ
W T FE0hE Wl mﬁ&“*ﬁmﬁ“ Data

wTm -
(A) o b TS ;.if ) T

149. Which is the objective of ODerati
Scan the system Ng system 7 _
EE} Managing the system h“ﬂlwﬁm B‘ I‘mwlh;l an connect!y iy
aﬂn’tﬁnfhﬂ:latnmh All of these %E
(A) Toen &3 &1 a
(C) fhreen WA T Ty {[g‘; WW*“'

150. In MS-Windows, shut dowy on is found/ Lin
(A) Menu bar  (B) Title (€) Sﬂ:;nli‘l‘c::u (D) Status bar

g RVER 31 S RN wry e e e & .
@A)\ B) Twwmy () wEtgd () LATA

151. Auto EW;‘“ was originally designed to replace words as you type:
A) sho elled {B grammatically incorrect
C mﬁﬁi’{a TR =i D mpetiliv:ﬁ = & fu
ﬂéﬁmm o M 29N Fa £ ) i
(A) (B) =R =9 8 A
() FRTH (D)
152. Save, Save as, Print are found in which menu of MS-Excel ?
(A) File (B) Edit (C) Insert (D) View

&4, 49 9, T3 U9 um v i few e H e £ 2
(A) TE (B) ufEz (C) v (D) =
153. In which view, PowerPoint title bar and the status bar show at the top and
bottom of the interface ?
A) Normal view B) Special view
{C} Notes page view D) Reading view
Fo 5, i 272 A she S AT 4 e e Pt 2
(A) Fe=sg (B) ®fimE® (C) Wavs (D) ffgnsg

|54. DBMS helps to achieve

A) data independence
B nemmljse%:mnnner to control of data

C) more redundanc

D) Both (A) and {B¥ |

DBMS 741 3i7%d &4 # SErdd1 e & 7
(A) 1 w@aAd o

(B) 21 foam=mn 1 i1

(C) it Frfetamm

(D) (A) 3 (B) 1
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e85
MS-ACH Solbar
155, In which toolbar, we will find the sort cammand 10 heet 100

0

dard ool B) Table DAt
t%; E:’T‘]“"?.;m:g?ﬁl;%m D} Forms toolba
e VT TR U i if -y wid w7
o) rithld 1) Yaw S E
(C) W eram (D) i e

jcating
: communl
186. In which transmiggion. the channel capacity is shared by

devices at all timeg 9

A) Simplex .duplex
EC'J I?uil-dupi';n i%]] Eﬁ{ﬂ?ﬂ and (C)

A) R ¥ Gt ww g=R g g

(B) ®IH-
©) -y (D) [B}ﬁtmﬁ
157. What is the

EE; Hucde:hﬂ il ;E! Network connector

Dy 1 d
LAN 572 & o s sm w2 0 e
(A) NIC (B) b wEn (C) i (D) T FE

158. Which layer is closest to transmission medium in OSI model ?
(A) Tran

M (B) Network (C) Datalink (D) Physical
usmﬁ?ozhmﬁmﬁ;;%m&uéﬂzﬁ%g?

(A) TR (B) e ©) Tafim (D) Ffsew
159. Which of the following is a web browser ?

{A Internet explorer B) Mozilla firefox
Netscape Navigator ED]] All of these
fedashmdm iy
(A) TR T (B) wifsren wrarsias
(C) “zedm e (D) =&
160. The HTML code written in a text editor to make web ages is called
A) HTML coding tags B% Source code
EC} Source element D) Tags
9 T T o T ey o fran HTML #1s e 3
(A) HTML %I (B) i wre
(C) ¥ ferdre (D) @n
161. Which is an example of malware ? _
i |
& A% B 22
A |1 U Yea 3 1 EH 2

(A) it B) HWad  (C) W (D) ufem &=
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2. An inverter is also called which gate 7
" o wd A @ e i e 'y

(M NOT (B) OR (C) AND (D) NAND
163 Which is not the characterstic of sofiware 7

Software does not wear out B Software is flexibl
) somvre L0 hei ure (D) Software is always carrect

2 W WA A R TER 9
(A) mﬁmfﬁmqﬂ%m (B) a‘hzamsﬁa:ﬁam
(C) wiwaam . (D) wfszasm win @ 7
164. C' IS a high level language, which is develo l:l by gﬁ
Biame Stmm'.tm nnis Ritchie
C arles Bab ngr: %D}) Huward Aiken

'C' a3 T R 3 5w g faefi &
(A) T =EE (B) TFwmih () s=d=Ea (D) g TP

165. A setofl msﬂ"-lﬂlﬂﬂﬁ ﬂEEI ed to perform a specific task 1§ known as

U’i] al “” thm annin C) steps (D) procedure
&ﬂi’qﬁ%%nﬁ T WE aﬂ'ﬂz FEeTdl &
(A) ‘-'.t_"i”tm {"Hll T (C) =1 (D) W

166. What is the full form of SQL ?

smmmn-. Query Lan
i‘a Simple Query Ll!llglmlr1lr gﬂr;age E?))) iﬁ“ﬁ}%ﬂw List
SQL :;ﬂwt
(A) e (B) waas Fail fonz
(C) faeme w= (D) TETH

167. The population of H.P. as per census 2011 is

AT 2011 3 SER s wen i saeen &

(A) 66,64,602 (B) 67,64,602 (C) 68,64,602 (D) 69,64,602
168. The dlsm:l headquarters of Kinnaur district of HP is

(A) Kal (B) Kaza (C) Pooh (D) Recongpeo
fommee %ﬁﬁi‘kﬁlﬁﬂﬁﬁmg@mt
(A) Fel (B) T (C) & (D) fepin dian

169. Chaunto Valley is located in which district of HP ?

A) Bi ) Hamirpur (C) Una (D) Chamba
( i &maaugl%ﬁ:aﬁ@lﬂm

(A) ﬂrmsc (B) wfq (C) F (D) ==
170, 'Budhi]‘ isa tribumgv of which river of HP ?

(A) Ra ) Beas (C) Chenab (D) Yamuna
e e e 1 o 7 ) R 42
(A) T (B) = (C) Fom (D) T
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